- 1 A boat mattress £10.00 £20.00
- 2 3 shelves of lights & candles etc. £10.00 £20.00
- 3 A box of assorted books including Len Deighton, The Kings treasures of literature, the first world war correspondent, by William Howard Russell, Charing Cross to St Paul's etc. £10.00 - £20.00
- 4 A Black & Decker powered hand saw & Black & Decker hedge trimmer £10.00 £20.00
- 5 6 wooden chairs £10.00 £20.00
- 6 A small vintage leather case £10.00 £20.00
- 7 A Capodimonte figural group of man chasing boys up a tree £10.00 - £20.00
- 8 11 old earthenware jars & glass bottles including Andrews & Heath Coventry £10.00 - £20.00
- 9 A collection of figurines including Victorian & a jardinier £10.00 £20.00
- 10 A quantity of tools & accessories including saws & metal rawl plugs etc. £10.00 - £20.00
- 11 A collection of silver plate items, mainly toast racks £10.00 £20.00
- 12 A good collection of Royalty related books including Lady Diana £10.00 £20.00
- 13 A shelf of china including 6 Ridgeway Windsor low bowls, Goeble & Wade £10.00 £20.00
- 14 A 3 branch chandelier with shades £10.00 £20.00
- 15 A good collection of pottery items including jardinier & Japanese etc. £10.00 - £20.00
- 16 A mixed lot including kern level, copper kettle, Beatrice stove & 2 hurricane lanterns £10.00 -£20.00
- 17 A collection of CD's & 2 small electric heaters £10.00 - £20.00
- 18 A vintage cased Zig Zag sewing machine £10.00 -£20.00
- 19 A shelf of wooden items including camel solitaire board £10.00 £20.00
- 20 An Autumn leaves tea set including 6 cups, saucers & teapots etc. £10.00 £20.00
- 21 A quantity of new bags & binders £10.00 £20.00
- 22 A 5 arm chandelier & a 3 arm chandelier £10.00 £20.00
- 23 A collection of Disney items including print & toys £10.00 £20.00
- 24 A quantity of books on antiques & a quantity of plates £10.00 £20.00
- 25 A quantity of vintage puzzles & toys £10.00 £20.00
- 26 6 metal hanging baskets £10.00 £20.00
- 27 A shelf of copper & brassware £10.00 £20.00
- 28 2 shelves of pottery including hunt scene pattern

£10.00 - £20.00

- 29 A quantity of drills & tools etc. £10.00 £20.00
- 30 A new ice cream machine & bread bin etc £10.00 £20.00
- 31 A collection of small pots by SIA & other SIA items £10.00 £20.00
- 32 2 shelves of blank CD's, Dvd's, ink cartridges & other items £10.00 £20.00
- 33 A hat with hat box & a suitcase £10.00 £20.00
- 34 A mixed lot including stoneware glass bottles & brassware £10.00 £20.00
- 35 A set of scales with weights & an old iron £10.00 £20.00
- 36 A candelabra & a brass wall light fitting £10.00 £20.00
- 37 A limited edition days gone Lledo set brewing in Britain £10.00 - £20.00
- 38 A quantity of new handbags £10.00 £20.00
- 39 3 table lamps & shades £10.00 £20.00
- 40 A quantity of brass & copper including Victorian candlesticks & a bakelite hot water jug £15.00 £25.00
- 41 3 new irons & other kitchenware £10.00 £20.00
- 42 A box of cricket books including autobiography £10.00 - £20.00
- 43 A quantity of vases, jardiniers & bowls £10.00 £20.00
- 44 A quantity of tobacco & breweriana including water jugs, soda syphon, Bells decanter & snuff packets etc. £10.00 - £20.00
- 45 A quantity of Bells whisky decanters & Wade jug etc. £10.00 - £20.00
- 46 4 Rupert the Bear annuals, 4 Rupert adventure series comics & 2 Rupert jigsaw puzzles £10.00 -£20.00
- 47 A box of miscellaneous including old propelling pencil, badges & Bisque figurine etc £10.00 -£20.00
- 48 A quantity of Playstation 3 games & accessories & other toys £10.00 - £20.00
- 49 A Brass magazine rack, a wooden magazine rack & a small table £10.00 - £20.00
- 50 A vintage tray & other wooden items £10.00 £20.00
- 51 A mixed lot of teaware including Sadler, Royal Albert & other items (2 shelves) £10.00 - £20.00
- 52 A Power Devil electric chainsaw & a Gunson 12V automatic battery charger £10.00 £20.00
- 53 A vintage suitcase £10.00 £20.00
- 54 A quantity of cushions £10.00 £20.00

- 55 A boxed Ronseal power sprayer, a boxed Black & Decker Kazzoek plane, a vice & a cased portable gas stove £10.00 - £20.00
- 56 A Daewoo microwave £10.00 £20.00
- 57 A boxed precision mitre saw £10.00 £20.00
- 58 A Denby tea set with setting for 10 £10.00 £20.00
- 59 A shelf of frames & pictures £10.00 £20.00
- 60 An AGS mitre & Draper foot pump etc. £10.00 £20.00
- 61 An Optima projector & a vintage alois projector & a vintage Alois projector £10.00 £20.00
- 62 A wheelchair £10.00 £20.00
- 63 A plastic garden table with 6 chairs & a plastic round table & parasol £10.00 £20.00
- 64 A quantity of cushions £10.00 £20.00
- 65 A quantity of garden ornaments £10.00 £20.00
- 66 A Corinthian master bagatelle board & a cribbage board £10.00 £20.00
- 67 A 2 seater cream leather settee £10.00 £20.00
- 68 A 2 seater sofa £10.00 £20.00
- 69 A quantity of rugs £10.00 £20.00
- 70 A good 4 piece cane furniture set £10.00 £20.00
- 71 An ottaman £10.00 £20.00
- 72 A 3 tier black glass effect TV stand £10.00 £20.00
- 73 A Qualcast mower & a petrol can £10.00 £20.00
- 74 A 4 tiered what not £10.00 £20.00
- 75 A quantity of books & ephemera including Royalty related £10.00 £20.00
- 76 A painted pine trunk, Bentwood chair & magazine table £10.00 £20.00
- 77 A scythe, a scythe end & a vintage drain top £10.00 £20.00
- 78 A piano stool & sheet music £10.00 £20.00
- 79 A box of linen & material £10.00 £20.00
- 80 6 assorted folding chairs £10.00 £20.00
- 81 A pine 3 shelf wall unit £10.00 £20.00
- 82 A bureau £10.00 £20.00
- 83 A Mountfield petrol mower £10.00 £20.00
- 84 A single seat garden bench with metal ends £10.00 £20.00
- 85 A Royale microwave £10.00 £20.00
- 86 An LG microwave £10.00 £20.00
- 87 A projector & screen etc £10.00 £20.00
- 88 A Mountfield petrol mower £10.00 £20.00
- 89 A Frigidaire fridge £10.00 £20.00
- 90 A 6 drawer oak fronted stationary cabinet £10.00 £20.00
- 91 A low mahogany occasional table £10.00 £20.00

- 92 2 Clarke power pullers £10.00 £20.00
- 93 A long garden hose on reel £10.00 £20.00
- 94 A very large quantity of K'nex £10.00 £20.00
- 95 A tall Beko fridge/freezer £10.00 £20.00
- 96 An AEG lauamat protex washing machine £10.00 £20.00
- 97 A gate leg table with barley twist legs £10.00 £20.00
- 98 A double sided low table £10.00 £20.00
- 99 A boxed desk fan, a boxed pedestal fan and a boxed cosmopoliton foot spa £10.00 - £20.00
- 100 A Mannequin bust and a wicker basket £10.00 £20.00
- 101 A 3 over 2 chest of drawers £10.00 £20.00
- 102 A universal QST Rampage bike £10.00 £20.00
- 103 A sack barrow £10.00 £20.00
- 104 A mahogany sideboard with mirror £10.00 £20.00
- 105 A Tapestry in fire screen £10.00 £20.00
- 106 A 3 drawer over 2 door cabinet £10.00 £20.00
- 107 A bedside cabinet £10.00 £20.00
- 108 A 2 door over 2 drawer cabinet £10.00 £20.00
- 109 A small vintage wardrobe £10.00 £20.00
- 110 A wooden step ladder £10.00 £20.00
- 111 A quantity of garden tools £10.00 £20.00
- 112 A French carved oak buffet section A/F £40.00 £50.00
- 113 A vintage Wolsley major petrol rotivator £10.00 £20.00
- 114 An electric garden gear electric mower £10.00 -£20.00
- 115 A mahogany cabinet/stand £10.00 £20.00
- 116 An aluminium ladder £10.00 £20.00
- 117 An Atco petrol mower £10.00 £20.00
- 118 7 old golf clubs in bag £10.00 £20.00
- 119 A Hotpoint WMEF641 Experience 6kg washing machine £10.00 - £20.00
- 120 An Iced Diamond RFA51P fridge freezer £10.00 -£20.00
- 121 An old pine cabinet a/f & a wooden table £10.00 £20.00
- 122 A Hotpoint WDL520 Aquarius washing machine £10.00 - £20.00
- 123 A small step ladder & a metal step ladder £10.00 £20.00
- 124 A 2 shelf book case £10.00 £20.00
- 125 An unusual set of display shelves £10.00 £20.00
- 126 A small cabinet £10.00 £20.00
- 127 A retro display cabinet with drawers & shelves £10.00 - £20.00
- 128 A wall display unit £10.00 £20.00

- 129 A 3 shelf pine book case £10.00 £20.00
- 130 A bedside cabinet £10.00 £20.00
- 131 A Peek Frean Co. print & 2 retro style canvas print signs £10.00 - £20.00
- 132 A Hotpoint WT2500 upright washing machine £10.00 - £20.00
- 133 A Hotpoint RZM61 freezer £10.00 £20.00
- 134 A 3 shelf bookcase £10.00 £20.00
- 135 A serpentine front hall sideboard £10.00 £20.00
- 136 A 2 over 2 drawer mirror backed dressing table £10.00 - £20.00
- 137 A Shimano Falcon Orleans bike £10.00 £20.00
- 138 A table with a pull out drawer £10.00 £20.00
- 139 A Beko DSC85W tumble dryer £10.00 £20.00
- 140 A large collection of new mainly tagged clothes including Hobbs, Next & Alex & Co etc. £10.00 -£20.00
- 141 A saloon chair £10.00 £20.00
- 142 A 3 tier black glass effect TV stand £10.00 -£20.00
- 143 Two 1920's dining chairs with leather seats £10.00 - £20.00
- 144 A large hall sideboard £10.00 £20.00
- 145 An aluminium step ladder £10.00 £20.00
- 146 A quantity of garden tools including electric Flymo chainsaw £10.00 £20.00
- 147 A fine bedroom suite consisting of 2 mirror fronted wardrobes & 2 chests of drawers & a bedside chest £10.00 - £20.00
- 148 A metal step ladder £10.00 £20.00
- 149 A Sleepmasters mattress & bed with metal headstead £10.00 - £20.00
- 150 A telephone table £10.00 £20.00
- 151 A glazed fronted cabinet £10.00 £20.00
- 152 A long mahogany coffee table £10.00 £20.00
- 153 A set of office drawers & a cabinet £10.00 £20.00
- 154 A 3 door glazed display cabinet top £10.00 £20.00
- A large collection of new mainly tagged clothes including Hobbs, Next & Alex & Co etc. £10.00 £20.00
- 156 A 2 seater sofa £10.00 £20.00
- 157 A pie crust 'D' end table £10.00 £20.00
- 158 A retro display cabinet £10.00 £20.00
- 159 A modern pine 2 door wardrobe with 2 door cabinet above £10.00 £20.00
- A large collection of new mainly tagged clothes including Hobbs, Next & Alex & Co etc. £10.00 £20.00
- 161 A 3 drawer & 3 door hall sideboard £10.00 £20.00
- 162 A tripod occasional table £10.00 £20.00

- 163 A music cabinet £10.00 £20.00
- 164 A white painted kitchen dresser £10.00 £20.00
- 165 A retro wardrobe & retro sideboard with mirror back £10.00 - £20.00
- 166 An atstragal glazed corner cabinet £10.00 £20.00
- 167 A quantity of concrete garden planters (3) £10.00 -£20.00
- 168 A quantity of garden planters & contents £10.00 £20.00
- 169 A quantity of concrete garden planters £10.00 £20.00
- 170 A quantity of garden tools & step ladder etc. £10.00 - £20.00
- 171 A quantity of garden planters & contents etc. £10.00 - £20.00
- 172 A dark wood stained tripod wine table with leather insert in top £10.00 £20.00
- 173 A quantity of books on Lincolnshire £10.00 -£20.00
- 174 A quantity of old cardboard houses, marbles & games £10.00 £20.00
- 175 A quantity of board games etc. In Lord of the Rings £10.00 - £20.00
- 176 A mixed lot of teapots & quantity of Franklin Mint 'Le cordon bleu' moulds £10.00 - £20.00
- 177 A French sapeurs pompiers dompierre firemans helmet £10.00 - £20.00
- 178 A Cairns USA emergency medical tech captains firemans helmet £10.00 £20.00
- 179 A ground troops helmet with liner £10.00 £20.00
- 180 A Bullard USA defence fire service American firemans helmet £10.00 - £20.00
- 181 A Dutch firemans helmet with brass fittings & leather lining £10.00 £20.00
- 182 A Cairns USA Felton fire department firemans helmet £10.00 - £20.00
- 183 A Spencer & Rutherford cabin suitcase £10.00 £20.00
- 184 2 large pottery vases £10.00 £20.00
- 185 A quantity of Royal Albert sandwich plates etc.£10.00 £20.00
- 186 A Sony Dvd recorder with remote control £10.00 -£20.00
- 187 A still life on board by Wilf Walker £10.00 £20.00
- 188 An oriental base table lamp with shade £10.00 £20.00
- 189 A Georgian oak bureau £50.00 £60.00
- 190 A 3 piece Wood & Sons heatmaster retro tea set £10.00 - £20.00
- 191 6 volumes of 'The Second World War' by Winston Churchill published by Cassell (all 1st edition except volume 1) £10.00 - £20.00

- 192 A miniature Worcester dish, set of 3 Nelson graduated jugs etc. £10.00 - £20.00
- 4 volumes 'The illustrated dictionary of gardening' & 8 volumes 'The faiths of the world' £15.00 -£25.00
- 194 4 vintage leather boxes/cases for cameras & binoculars £10.00 £20.00
- 195 2 wooden boxes & a wooden pen/pencil holder £10.00 - £20.00
- 196 5 Spode continental views blue & white spice jars
 & 1 other & a TG Green storage jar with wrong lids
 £10.00 £20.00
- 197 5 Boyds bears £10.00 £20.00
- 198 A quantity of miniature shoe ornaments £10.00 £20.00
- 199 3 wooden boxes & 1 other £10.00 £20.00
- 200 A Victorian brass & copper bed warming pan £10.00 - £20.00
- 201 A solid body Session Pro guitar £40.00 £60.00
- 202 A octagonal table on wheels £10.00 £20.00
- 203 Roselle Occ & Co. 2 lidded vases & trinket pot £10.00 - £20.00
- 204 Approximately 9/10 Regency & 1930's style ball gowns £10.00 £20.00
- 205 A large double wardrobe £10.00 £20.00
- 206 A watercolour stll life of a vase of flowers signed G.M. Brough, a print & 2 framed dried flowers with butterflies £10.00 - £20.00
- 207 An unusual brass garden sprayer £10.00 £20.00
- 208 3 shelves of stationary items £10.00 £20.00
- 209 A quantity of miscellaneous including soap, candle jar & photo albums £10.00 - £20.00
- 210 13 pieces of carnival glass £10.00 £20.00
- 211 A quantity of sporting items including boxing gloves, belt & pool balls etc. £10.00 £20.00
- 212 A set of bellows & Victorian cutlery tray £10.00 £20.00
- 213 A 19th century Rememberance print for William Lowery 1869 £10.00 £20.00
- 214 A vintage parasol & walking cane £10.00 £20.00
- 215 A quantity of candles, tealight holders & creams etc. £10.00 £20.00
- 216 A large quantity of aircraft magazines & history of aviation £10.00 £20.00
- 217 3 boxes of toiletries £10.00 £20.00
- 218 A gilt framed mirror £10.00 £20.00
- 219 A pair of pale blue Victorian vaseline handbag vases £10.00 £20.00
- 220 A decorative cherub clock £10.00 £20.00
- 221 A large quantity of Dvd's & blue-rays including box sets £10.00 £20.00
- 222 A postcard book on Elizabeth II, Christmas

postcard book, motorbikes, fine art postcard book & collection of postcards on birds from National Museum of Canada, Ottawa £10.00 - £20.00

- 223 A quantity of vintage board games & jigsaws including mastermind & the Royal wedding etc. £10.00 - £20.00
- An old watercolour of a farmer £10.00 £20.00
- 225 A quantity of glass items including cake stands (9 pieces) £10.00 £20.00
- 226 A quantity of EPNS, Victorian & later £10.00 £20.00
- 227 A Tuscan porcelain tea set, plant design (13 pieces) £10.00 £20.00
- 228 A box of new glasses (48) £10.00 £20.00
- 229 9 Bearington Teddy bears including Valentines, Christmas & a sleigh £10.00 - £20.00
- 230 A quantity of wine glasses & glass dishes (17 pieces) £10.00 £20.00
- 231 A quantity of wooden items including bongo drums £10.00 - £20.00
- A large old earthenware jug £10.00 £20.00
- 233 A quantity of Victorian candlesticks etc. £10.00 £20.00
- A Bradfords edition RAF anniversary clock, a
 Coalport Winston Churchill centenary goblet,
 Churchill ashtray & a bottle opener £10.00 £20.00
- 235 A collection of Terry Pratchett books & audio CD's £10.00 £20.00
- A brass fire poker & shovel etc. £10.00 £20.00
- 237 A quantity of miscellaneous including purses/wallets & netting etc. £10.00 - £20.00
- 238 A pair of Grecian style ewers £10.00 £20.00
- A mixed lot of glassware £10.00 £20.00
- 240 An eastern copper bowl with spout a pottery bird & silver plate candlestick £10.00 £20.00
- 241 7 cased sets of darts £10.00 £20.00
- 242 A 1930's cut glass flycatcher lampshade £10.00 £20.00
- 243 A vintage Davis of Derby miners telephone £15.00 £25.00
- 244 A tin container/box £10.00 £20.00
- 245 A quantity of hats £10.00 £20.00
- 246 6 Chinese soup bowls & a ginger jar etc. £10.00 £20.00
- 247 2 Victorian glass measures & 3 glass oil bottles £10.00 - £20.00
- A quantity of trinket boxes £10.00 £20.00
- A quantity of copper plated items £10.00 £20.00
- 250 A quantity of 78rpm records including pre-second world war £10.00 £20.00
- 251 A watercolour on canvas of a sailing ship £10.00 £20.00

- 252 Two 19th century porcelain cup & saucers by Richard Hawkins, Crystal Palace & Brighton £10.00 - £20.00
- 253 A Kevin Francis limited edition 171/750 Toby jug of Henry Sandon £10.00 - £20.00
- 254 A quantity of whisky & spirit miniatures with glasses £10.00 £20.00
- 255 A quantity of old tins etc. £10.00 £20.00
- 256 An interesting collection of old annuals including Beano etc. £20.00 - £30.00
- 257 A quantity of Die-cast toys £15.00 £25.00
- 258 A quantity of pillow cases & duvet covers etc. £10.00 - £20.00
- 259 2 brass blacksmiths & 2 miniature brass scuttles £10.00 £20.00
- 260 A good old watercolour by J Leach £10.00 £20.00
- 261 An art pottery of a swaddling baby, signed £10.00 £20.00
- 262 A Paisley tea set (21 pieces) £10.00 £20.00
- 263 A quantity of musical related programmes £10.00 £20.00
- 264 A quantity of blue & white including ginger jars & tea bowls etc £10.00 £20.00
- 265 A quantity of wooden items including animal figures, rolling pins & gavel etc. £10.00 £20.00
- 266 A quantity of 45 rpm records (mostly 1970's/80's) £40.00 - £60.00
- 267 A quantity of Sadler pottery teaware £10.00 £20.00
- 268 An arts & crafts cast iron candlestick A/F & a cast iron beetle boot jack £10.00 £20.00
- 269 21 promotional model vehicles including Lledo, Days Gone & Matchbox etc. £10.00 - £20.00
- 270 A quantity of miscellaneous teaware including Limoges (2 shelves) £10.00 - £20.00
- A CD mini system & speakers, a new Elro security light & a Poloroid image system etc.
 £10.00 £20.00
- 272 5 ornamental miners lamps £10.00 £20.00
- 273 2 large crackle glazed candle holders £10.00 £20.00
- 274 A quantity of pewter & silver plated items £10.00 -£20.00
- 275 A Portmerion botanical garden jug & bowl £10.00 £20.00
- 276 3 framed & glazed pictures & 1 other £10.00 -£20.00
- 277 2 rolls of vintage sash cord £10.00 £20.00
- 278 A quantity of cameras & binoculars £10.00 -£20.00
- 279 A quantity of toy cars £10.00 £20.00
- A bottle of Mercier Brut champagne & a bottle of 6

year old Golden Sun Kentucky bourbon whiskey $\pounds 10.00 - \pounds 20.00$

- 281 A quantity of glasses £10.00 £20.00
- 282 2 shelves of tea sets & plates including Cottage Rose (66 pieces) £10.00 - £20.00
- A quantity of Britains soldiers empty boxes etc.£10.00 £20.00
- 284 A quantity of books including battles in Britain £10.00 - £20.00
- A capodimonte tramp figure £10.00 £20.00
- 286 3 vases £10.00 £20.00
- 287 A shelf of brassware including Victorian jam pan, saucepan & miners lamps etc. £10.00 - £20.00
- 288 A mantel clock & 1 other item £10.00 £20.00
- 289 A quantity of glassware including decanter (21 pieces) £10.00 £20.00
- 290 A quantity of treen & brassware £10.00 £20.00
- 291 A quantity of miscellaneous including Matsui walkman & portable receiver etc. £10.00 - £20.00
- 292 A quantity of wooden items including treen, Wills woodbines & cribbage board etc. £10.00 £20.00
- 293 A tall mahogany tripod torchere wine/plant stand £10.00 £20.00
- 294 A quantity of 19th & 20th century pottery & porcelain including cups & plates A/F £10.00 -£20.00
- 295 A war of the Nations by Edgar Wallace volume 2 & the first cruise of three middies £10.00 £20.00
- 296 A carved oak fire screen & a tapestry firescreen £10.00 - £20.00
- 297 A pair of bongo drums £10.00 £20.00
- 298 Two 19th century ironstone plates, one from the kitchen department, Trinity college, Cambridge £10.00 £20.00
- 299 A Sylvac vase with bamboo decoration £10.00 £20.00
- 300 A quantity of old children's books £10.00 £20.00
- 301 An old oil on board, early 20th century £10.00 £20.00
- 302 2 wooden cases with cutlery & brassware including candlesticks £10.00 £20.00
- 303 A Teqnic horse saddle with stirrups, girdle, girth, bridle, halter & stand £20.00 £30.00
- 304 A quantity of silver plate etc. £10.00 £20.00
- 305 A Jupiter 31 day wall clock £10.00 £20.00
- 306 A quantity of old children's books £10.00 £20.00
- 307 A Paragon Majestic tea set & other items of china £10.00 £20.00
- 308 A 1930's cane backed hall chair £10.00 £20.00
- 309 3 novelty calendars & a book £10.00 £20.00
- 310 An Armand Marseille A7M 390 Bisque headed doll with moving eyes & composite body £10.00 -

£20.00

- 311 A suitcase with a quantity of CD's £10.00 £20.00
- 312 An old jerry can £10.00 £20.00
- A quantity (over 80) 1970's/80's LP records including Pointer sisters, Billy Ocean, Chris Issak & Gil Scott etc £10.00 £20.00
- A collection of books including The war illustrated, Chaffors Marks & monograms of pottery etc. £10.00 - £20.00
- 315 A box of LP records & a case of records £10.00 £20.00
- 316 A TCR (Total Control Racing) set, used & completeness unknown £10.00 £20.00
- 317 2 big boxes of football game magazines & papers& a smaller box of medals etc. £10.00 £20.00
- 318 2 period chairs £10.00 £20.00
- 319 7 Wedgwood items including trinket boxes & green jasper etc. £10.00 £20.00
- 320 A Victorian wine table £15.00 £25.00
- 321 A Davy lamp £10.00 £20.00
- 322 A long case clock movement £10.00 £20.00
- 323 6 china tea trio sets & 4 retro tea trio sets £10.00 £20.00
- 324 A quantity of old books £10.00 £20.00
- 325 A collection of approximately 150 records including The Beatles £10.00 £20.00
- 326 A pair of framed silhouettes £10.00 £20.00
- 327 A Victorian cranberry glass stirrup cup £15.00 £25.00
- 328 A collection of china including dolls head & trinket pot etc. £10.00 £20.00
- 329 2 bone necklaces £10.00 £20.00
- 330 2 white metal bangles & 2 white metal bracelets including silver £10.00 £20.00
- 331 A ladies decorative pipe with case A/F £30.00 -£40.00
- 332 3 tie clips & a coin bracelet £10.00 £20.00
- 333 5 ladies wristwatches, 3 straps & a bracelet £10.00 £20.00
- 334 2 fishing reels including Winfield £10.00 £20.00
- 2 boxes of model kit instructions including Airfix, Penguin & Frog etc. £10.00 - £20.00
- A quantity of glass paperweights £10.00 £20.00
- A Continental pottery biscuit barrel £10.00 £20.00
- 338 6 silver teaspoons £15.00 £25.00
- A pair of opera glasses & vintage specs £10.00 £20.00
- 340 An old Ellgreaur pottery sunburst sugar sifter signed Lorna Bailey £10.00 - £20.00
- A sailors embroidery pyjama case & collection of Naval arm badges £25.00 - £45.00

- 342 4 Royal Doulton character jugs £10.00 £20.00
- 343 An autoflex car tax disc holder & a British aircraft preservation car badge £10.00 £20.00
- 344 2 good stirrup cups & corkscrews etc. £10.00 -£20.00
- 345 A vintage table lighter in form of a cannon £10.00 -£20.00
- 346 A tin of costume jewellery bangles & bracelets £10.00 - £20.00
- A tri-colour metal bracelet marked Tiffany & Co.£10.00 £20.00
- A mixed lot including lighters, chains & tins etc.
 £10.00 £20.00
- 349 A model cannon & candlestick £10.00 £20.00
- 350 2 silver plate items £20.00 £30.00
- 351 6 silver handled knives & a quantity of cutlery including cased sets £10.00 £20.00
- A mixed lot including costume jewellery, vesta case, clay pipes, teapot & silver sugar tongs etc.
 £10.00 £20.00
- 353 A quantity of costume jewellery £10.00 £20.00
- 354 A vintage Cottam & Wright Lincoln table water bottle £10.00 - £20.00
- 355 A brass ornamental spice box featuring peacocks A/F £10.00 - £20.00
- 356 A hand painted cup & saucer A/F £10.00 £20.00
- 357 A selection of glass animals £15.00 £25.00
- 358 A box of hairpiece pony tails £10.00 £20.00
- 359 A large ornamental vase A/F £10.00 £20.00
- 360 A Nikon coolpix S2600 (new in box) £10.00 -£20.00
- 361 A quantity of coins including commemorative crowns, silver proof & copper etc. £10.00 £20.00
- 362 4 wrist watches including Oris, Accurist etc. & Eterna pocket watch £10.00 - £20.00
- 363 3 Kate Bush LP's, The dreaming, lion heart & the kick inside & an LP by the Comsat Angels £10.00
 £20.00
- 364 A folder containing phone cards £10.00 £20.00
- 365 A stamp album £10.00 £20.00
- An album of stamps Victorian & early 20th century
 & world stamps £10.00 £20.00
- 367 A quantity of costume jewellery £10.00 £20.00
- 368 A quantity of costume jewellery £10.00 £20.00
- A collection of paperknives (2 boxes) £20.00 £40.00
- A large quantity of costume jewellery £10.00 £20.00
- 371 2 boxes of collectors paper knives £20.00 £40.00
- 372 A Tom Tom start sat nav (new & sealed in box)£10.00 £20.00

- 373 A quantity of costume jewellery £10.00 £20.00
- 374 A quantity of kitchen ware including enamel bread bin without lid £10.00 - £20.00
- 375 A box of 150 records including Elvis £10.00 -£20.00
- 376 4 dining chairs £10.00 £20.00
- 377 2 suitcases £10.00 £20.00
- A complete set of Britannica books 1-54,
 Britannica Gateway to books 1-10 and Britannica
 The Great Ideas program 1-10 £10.00 £20.00
- 379 A 19th Century brass trivet, jam pan and candlestick and a copper kettle marked 'VR' £10.00 - £20.00
- 380 A 4 shelf bookcase £10.00 £20.00
- 381 A quantity of mantle clocks etc. £10.00 £20.00
- 382 11 children's books including Mary Fitt, Jane Shaw, Enid Blyton etc. £10.00 £20.00
- 383 A vintage aluminium fireman's hose nozzle £10.00 £20.00
- 384 An electric guitar £10.00 £20.00
- 385 A fabric covered 2 seater sofa £10.00 £20.00
- 386 A painted Ercol style dining table and 4 chairs with painted stool £10.00 £20.00
- 387 9 items of art glass (some signed) £10.00 £20.00
- 388 5 framed and glazed prints of Victorian/Edwardian photorgaphs including Nottinghamshire, Canals, etc. £10.00 - £20.00
- 389 A quantity of 1950/60/70's LP records including Classical, Musical, Theatre etc. £10.00 - £20.00
- 390 A table top writing desk £10.00 £20.00
- 391 A canteen of cutlery £10.00 £20.00
- 392 3 carved polish walking canes £10.00 £20.00
- 393 A quantity of old annuals including Rupert £10.00 -£20.00
- 394 5 wooden folding chairs with a glass top garden table £10.00 £20.00
- 395 A JVC flat screen TV with remote control £10.00 -£20.00
- 396 5 canvas prints, mirrors, frames etc. £10.00 £20.00
- 397 A cased Bernina sewing machine £10.00 £20.00
- 398 A Gladstone style leather bag £10.00 £20.00
- 399 An oak carver chair with portulis back and wicker seat £10.00 £20.00
- 400 A quantity of sheet music £10.00 £20.00
- 401 A Bowaria Creidlitz porcelain tea set £10.00 £20.00
- 402 An artistic metal flower floor standing lamp and a quantity of wooden wall lights £10.00 £20.00
- 403 A pair of hall chairs with green upholstered seats and backs £10.00 £20.00

- 404 A box of miscelleanous including watch straps, coins, pents, etc. £10.00 £20.00
- 405 A quantity of books on Second World War including poetry, songs, collectibles, P.O.W & home front etc £10.00 - £20.00
- 406 A Royal Albert Crown china print tea set £10.00 £20.00
- 407 A vintage ceiling light shade (Reported to be from the Lincoln workhouse) £10.00 £20.00
- 408 5 framed and glazed original watercolours, a modern silhouette study and other pictures in frames £10.00 £20.00
- 409 A solid pine 2 drawer cupboard £10.00 £20.00
- 410 A quantity of glass including decanter, carnival glass etc. £10.00 £20.00
- 411 A quantity of brassware including scent burners, coal scuttle etc. £10.00 £20.00
- A collection of children's books including Ladybird
 Well Loved Tales, Alison Uttley etc. £10.00 £20.00
- 413 A brown fabric tub chair £10.00 £20.00
- 9 assorted framed and glazed prints including railways, trams, RAF etc. including 1 framed oil painting £10.00 - £20.00
- 415 A box of LP records including Lenon, Pete Townsend, Genesis etc £20.00 - £40.00
- 416 A box of old games including cards, spinning tops, rubiks cubes etc. £10.00 £20.00
- 417 A box of LP records £10.00 £20.00
- 418 A box of LP records including Simon & Garfunkel, Johny Mathis etc. £10.00 - £20.00
- 419 2 boxes of 19th & 20th Century blue and white china plates A/F £10.00 - £20.00
- 420 A cabinet with a quantity of LP records and a case of 45rpm records £10.00 £20.00
- 421 A meat safe £10.00 £20.00
- 422 A Dual CS430 record turntable £10.00 £20.00
- 423 A large quantity of police review magazines 1980's - 2000's £10.00 - £20.00
- 424 A box of LP records including Liberace, Shirley Bassey & The Shadows etc. £10.00 - £20.00
- 425 2 boxes of 19th century & 20th century blue & white plates A/F £10.00 £20.00
- 426 4 portrait prints of Sir Arthur 'Bomber' Harris, Margaret Thatcher, Sir Edward Heath with autograph & scene from Nuremburg trials with autograph & copy of USA bill of rights £10.00 -£20.00
- 427 A box of LP records including Tom Jones, The Drifters & Rex Harrison etc. £10.00 - £20.00
- 428 A Singer sewing machine £10.00 £20.00
- 429 A vintage painted metal meat safe £10.00 £20.00
- 430 A shield back chair £10.00 £20.00

- 431 6 new Lakeland take out plates £10.00 £20.00
- 432 A wrought iron directors style chair with brass fittings £10.00 £20.00
- 433 A vintage christening gown £10.00 £20.00
- 434 A quantity of games including dominoes, scrabble & card games etc. £10.00 £20.00
- 435 An Edwardian mahogany dining chair £10.00 £20.00
- 436 A set of 18 illustrated encyclopedia of aircraft £10.00 - £20.00
- 437 An imperial fine English china part tea set decorated with 22ct gold £10.00 £20.00
- 438 A large New Wave pottery vase £10.00 £20.00
- 439 A pair of Carl Veitch 30x60 90ft at 10000yds binoculars with case £10.00 - £20.00
- 440 A porcelain dancer figure signed & marked Italy £10.00 - £20.00
- 441 A dark wood stained round coffee table with Queen Anne legs £10.00 - £20.00
- 442 A collection of theatre programs £10.00 £20.00
- 443 A quantity of Aynsley china including plates, cups & saucers £20.00 £30.00
- 444 2 sets of lawn bowls including one in Thomas Taylor of Glasgow box £10.00 - £20.00
- 445 A pair of metal frame chairs with wicker seats £10.00 £20.00
- 446 An interesting collection of military books & ephemera including 1932 military map of Lincolnshire £10.00 £20.00
- A Victorian silver plated teapot, cased set of butter knives & silver plated tureen with lid & liner £20.00
 £30.00
- 448 A 1950's oak bookcase with sliding glass doors £10.00 - £20.00
- 449 A quantity of books on RAF in Second World War including bomber command & autobiographies etc. £10.00 - £20.00
- 450 A quantity of boxed children's plastic dinner & coffee sets, vintage Escalado game & football £10.00 £20.00
- 451 A gateleg table £10.00 £20.00
- 452 4 good old engravings £20.00 £30.00
- 453 A collection of 78rpm records & 3 vintage fonoscope greetings records £10.00 - £20.00
- 454 A dark wood stained pine music/TV cabinet £10.00 £20.00
- 455 A folding tea/picnic table & a bamboo 2 tier side table £10.00 £20.00
- 456 A set of 1930's oak dining chairs with formica dropside dining table £10.00 £20.00
- 457 2 pairs of brass candlesticks & horse brasses etc. £10.00 - £20.00
- 458 An Edwardian oak sewing box & contents

including many threads £10.00 - £20.00

- 459 A modern pine chest of drawers £10.00 £20.00
- 460 A Vax bare floor pro steam cleaner £10.00 £20.00
- 461 An Edwardian inlaid tray & 1 other £15.00 £25.00
- 462 An inlaid cabinet £10.00 £20.00
- 463 A pine bed tray & side table £10.00 £20.00
- 464 An oak gateleg table £10.00 £20.00
- 465 A box of miscellaneous items including Solar 2 colour viewer etc. £10.00 £20.00
- 466 An Edwardian oak free standing sewing box A/F with contents £10.00 - £20.00
- 467 Two painted 3 drawer chests £10.00 £20.00
- 468 An oak nest of 3 tables £10.00 £20.00
- 469 A wicker table & storage box £10.00 £20.00
- 470 A quantity of RAF related prints in tubes including signed & limited editions & large instrument panel diagram £10.00 - £20.00
- 471 2 Wickes tressle stands & 2 bicycle tyres £10.00 £20.00
- 472 A quantity of framed & glazed pictures & prints £10.00 - £20.00
- 473 4 dining chairs £10.00 £20.00
- 474 A circular extending inlaid dining table £10.00 £20.00
- 475 Sam Wha ARII bow & arrows in case £20.00 £30.00
- 476 A mixed lot of EPNS cutlery £10.00 £20.00
- 477 A drop leaf oval table £10.00 £20.00
- 478 A treadle sewing machine with cast company name 'Indian' £10.00 £20.00
- 479 A 1960's/vintage 3 drawer chest of drawers £10.00 - £20.00
- 480 A pair of Fisher glass GT skis £10.00 £20.00
- 481 A 1973 studio pottery Alvingham pottery plate with fish decoration £10.00 £20.00
- 482 A Samsung flat screen television £10.00 £20.00
- 483 An oak sideboard £10.00 £20.00
- 484 2 shisha pipes & a coffee pot £10.00 £20.00
- 485 A 4 shelf bookcase £10.00 £20.00
- 486 A collection of books including English history, Folio & Penguin etc. £20.00 - £30.00
- 487 A mixed lot of electrical items including Sony LCD data projector, Giga Air 3411 outdoor camera, Sony Micro Hi-Fi component system & Canon camcorder etc. £10.00 £20.00
- 488 A blue metal patio set with parasol & extra base £10.00 £20.00
- 489 A gilt framed mirror £10.00 £20.00
- 490 A mixed lot of china including signed wall tiles, Torquay vinegar jug, cabinet plate of William Gladstone etc. £10.00 - £20.00

- 491 2 framed and glazed pictures of Lincoln Cathedral and scarecrow in field £10.00 £20.00
- 492 An over-mantel mirror £10.00 £20.00
- 493 A pair of side units £10.00 £20.00
- 494 A carved wood framed mirror and an art deco style table lamp £10.00 £20.00
- 495 A collection of mid 20th Polish costumed dolls £10.00 - £20.00
- 496 A computer desk £10.00 £20.00
- 497 A Fisher Price record player matchbox rapid shot slam set and a bear factory teddy bear etc. £10.00
 - £20.00
- 498 5 fantasy related prints and pictures (1 glass A/F) £10.00 - £20.00
- 499 An old engraving of Boston given to the Reverend Samuel Partridge M.A. Vicar of Boston. Published by J Buckle 1798 £10.00 - £20.00
- 500 A filing box, storage box and 4 cushions £10.00 \pounds 20.00
- 501 A serpentine front sideboard £10.00 £20.00
- 502 A framed and glazed charcoal drawing of an African woman signed Scabbia 58 £10.00 - £20.00
- 503 A quantity of books on RAF in Lincolnshire, training books etc £10.00 - £20.00
- 504 A TV cabinet £10.00 £20.00
- 505 A set of Avery shop scales £10.00 £20.00
- 506 A 3 drawer chest £10.00 £20.00
- 507 A county quartz westminster chime wall clock £10.00 £20.00
- 508 An Edwardian satin walnut bedside cabinet £10.00 - £20.00
- 509 A pair of framed and glazed beach scenes £10.00 £20.00
- 510 A pair of framed and glazed pictures town scene and picture of York Cathedral £10.00 £20.00
- 511 2 pine wall shelves £10.00 £20.00
- 512 4 wall mirrors £10.00 £20.00
- 513 A fabric covered wing back armchair £10.00 £20.00
- 514 A quantity of framed and glazed RAF aircraft prints £10.00 - £20.00
- 515 A double divan bed with posturepedic ultra luxe mattress £10.00 £20.00
- 516 A pair of oak wardrobes £10.00 £20.00
- 517 2 sets of 4 cushions £10.00 £20.00
- 518 2 boxes of science fiction books including Anthony Horowitz, Michelle Paver, Paul Stewart and Chris Riddell etc. £10.00 - £20.00
- 519 Over 130 DVD's and a quantity of CD's £25.00 £35.00
- 520 10 items of art glass £10.00 £20.00
- 521 A box of books including references, maps and

novels £10.00 - £20.00

- 522 A simulated fur coat £10.00 £20.00
- 523 A mixed lot of framed prints £10.00 £20.00
- 524 A large watercolour of cattle in woodland with cottage behind signed P.Worley £75.00 £85.00
- 525 A 3 drawer mirror back chest £10.00 £20.00
- 526 A patchwork quilt £10.00 £20.00
- 527 An oak framed arm chair with barley twist legs £10.00 £20.00
- 528 A quantity of football and horse racing prints £10.00 - £20.00
- 529 A pair of Victorian chairs £10.00 £20.00
- 530 A blanket pine box with candle box and fabric contents £10.00 £20.00
- 531 A 3 seater leather settee £10.00 £20.00
- 532 A pair of armchairs £10.00 £20.00
- 533 A cream patterned 2 seater sofa and pouffe £10.00 - £20.00
- 534 An L shaped sofa £10.00 £20.00
- 535 A quantity of aircraft posters £10.00 £20.00
- 536 A pair of pine chairs £10.00 £20.00
- 537 A Hoover Blaze vacuum cleaner £10.00 £20.00
- 538 An extending dining table and 6 chairs £10.00 £20.00
- 539 A violin and bow in case $\pounds10.00 \pounds20.00$
- 540 2 patchwork bed spreads £10.00 £20.00
- 541 A 3 piece suite and matching foot stool £10.00 £20.00
- 542 A bedroom mirror in pine frame £10.00 £20.00
- 543 A standard lamp £10.00 £20.00
- 544 5 sports related framed and glazed prints including cricket, golf and horse racing £10.00 £20.00
- 545 A 7 piece Corndell bedroom suite consisting of a pair of bedside drawers, dressing table with mirror and stool, 2 over 3 chest of drawers and a double bed with mattress £100.00 £200.00
- 546 An unsigned oil paintings of stone bridge crossing river with Hamlet to left bank and dark hills in background £10.00 - £20.00
- 547 A single satin walnut wardrobe with mirror door, 4 drawers and cupboard £10.00 £20.00
- 548 29 Pieces of Royal Doulton Mandarin plates £10.00 - £20.00
- 549 A large mahogany display unit £10.00 £20.00
- 550 A Victorian pine scrub top table £10.00 £20.00